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(9x9189 

98x63S8 

197x0+5S5S6 

aS76 xq+=33836 

4765x4348889 

9765 xt2 88SS8 

(1 Lxs+1 

12xSt2295 

123 Xb4397 

1 x3 
145x5 
1456 xgtE 

5 65 

(iv111:21 
a26-1 
339 1 
12-27 

27 SGEA5, 
b6b13E37 

8 521
Ma quates 

2 u 67+2=1S 
R 9-4 

um R3=b*3 + 4ss 
Selwn.C 

Sun C2 
um eC3 2+9- 4S DaselalLD 

7+5+3-15 
83 



dRA Ytt8521 
R2 14+743-24 
R3 6+S +10s21 

C 11t6E24 
C.2 1745-21 
C3 8+3t10a4 

D2 +7+1021 
D22 St 1t624 

CidRA 16+241230 
6t10 +14=30 
R398E18+ 30 

C116-6+83 0 
C2 +10+8 =30 
C32IE14 =30 

D1 6+10 +Y= 30 
21at10+b -30 

34) S 
3)15*oy

V 

AC2)G)15" uguse 
ute hag= E 3 X15Y 

AAlehe3 

G4o
M0 Mawe has=23x loty 
12Maateho3 



)An4t elear hal Jath ime t 
ho numbz 

wmdseaaca 
a 3 

.) ,1,J,JIJJJI 

G Ance, tho palu 

Liv) 42 igue 
Aunpe Malchstcks 12 wre-2Aun 

C20 igbr 
Aumbtepaalhsticks 20 ugure-2 



ach of the following patterns, construct the next figure. 6 
(0 In each case, if n denotes the number of fiqures and F denotes the number of 

matchsticks used, find F in terms of n. 
Also find, in each case, how many matchsticks are required to make the 

16th figure and 30th figure. 
(a) 

F=31-2 16eru- 5Om 30e3am 
(b) 

F-n+1 46 er= 65 m 0ppez d2d m 

(c) 

F-5ht3B 1 1gluee23m30 ooe 53 m 

we(d) 

F-5n1 1 gue 
(e) 

20 go=1a4.m 
() 

** *******************a*ao 
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